; ~ | wmE)y (HEH) (% i) Ex
ST i zry o L il = IR NI pa | 5 T T .
BHIOEE it OBIE R J: UI 5010 E]F ]BIUOD 40 5D i teHaEE N % ?E? ?i053 ill‘,gi[}% 0 - @
M 31
2 W
?tﬂj‘it') DL .

@ fERE Y

Brman
CH) sy

@ BRI
EXRIILDED

£TEREY)

@Y O T IFHS

() Ere. @
B aunEs

R KirOEETES
(58 Hi55  aiRiE

Jﬂﬂ E‘E

G mam 12
@) &2

g)gE
»*1 >

L1 [HIfE

@Q

.

Ik
(=

(L mEMEHT)

SRR

BETGNEG (5322)
il T 1 R4-3762(1 ~4F)

(D)—3 R4-227(4F)

BREEhis
| @ re-88)

v E'ﬁ%qtﬂ {5;@
2 g5om? -3

@ s1-345

MREILeHE

J-LERRE

' (3) S1-163

il

X ® M FE A




B 17600 A [EERY (EEH) (% 1) L
A o . ; " - RE : : 2
TJ%H@IEE THH B 5 10 15 20 25 B wasE )ER % 2:7 2:[]'? “l'q:[] 21 o0- ©)
L R } 1 I 1 1 B g |4 i :L ! !.VI -
1 1 1 1
R
1.00 3,00 &0 ] ’ |
: 0 ®
] = . 03 o8 0% AW
L 2[3]:[:. ~\ sRaLEE SREND T ; I
3 =] i - 5
) g % g
| g
= L BT wF 15
““‘ f Bhizz (houn " :‘»36\% 1$ :'3752 kj L T : T ;
oot & - ol B o= | B| 3 = @pE % = =
| E s g E 2 mRs £z sz | 4| sowAs 3 e wayE PTAE | =
= E |F|= L | ; : P
G ! :
i@ BRUEE ‘ 4 4 |
= ("&—ﬂ‘ 510 444 | L% | 1%l | 5.00 !153 | 4,00 I 9.00 ‘ 200 om 41 | 4:_ _________ -
e A 1 — W |l | : .
g P 1 _
= = |RfRE (-1 i i h
N I TREI & 1)
: 1B 16,92 : ! O |
; I 1
' ( I
(3 - SEm@E, |
= : BF | 1 N % il
] m| w#8E 2 8 “ 3
il o £ #r 8
T 5
- N N
=wl] 10
B L
o = FEYE 2
10.00 BN
20 s 14 )
R (14-2
e 5 HENE 3
&
12 1
LanE f
Vo] sl Vs @ 1 B
= (4
j 2.0 | o] 5w lam
&5 1000
g = 108 (2) jram
i Ef ke m 2 M ' ' 2
= @ 5
® 6 | nERE
s | \O 2] \ SR 30 @ Llg| L (& |& g
g & £ 1.00 1.00
| I 21,50 [_|
(3) 7-nmmnms
5,55

J-ERtEE 163




% 1./600 @ [l e | crun %
AT = S — @ o " . * S N (a3 ot T F.|® o
Hl6EE FEE | g ? 5 10 15 20 as B HEHEE PER z 211 ?:023 H]ig:u i 740 - (3
1 1 1 1
RAFO 5T 2FE 2 B8
A 7/ZiF H 4= .
® @
| | | B ing = J
e @
o faiA T
: %QEF T " i o (l:|/, ’
| S : 2 = %
E e _l‘ ®mF EF
— 4 8 9 10 , T iz ] i 2
| BT BagE | WENE BaRE S #enT By waws | mous
2 SEAAE ‘ = =
BSEanE
9,00 g N
s * roe 8.0 | 0,00 l 9,00 | 400 | a0 o0 o o0 <
= 28 A
; 010 617 0903433
p (D-1 |
= FEHE L
EE =
2hs =
T . =
i3 ]
g i 13 8
T &
i = &
= @ Fh =
% EHE ; _
N @ | HimHE =
5 |
.00 300 2
2.0
wanE =
3
magE =
—d=_|
ol sm |am]
& 16,10
WMERHE 2|’

X B M ZF &




